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Instruction : Question No. 1 is objective type question. It consists of Section (A), Section (B) and
Section (C). Each section has 5 questions of 1 mark each.

T.1 (GU=-37) Al [Aded FAHL [T (1x5=5)

(Section-A) Choose and write the correct option:

(1) T ST it WRfa st It 872

(3T) NaCl (a-) Na,SO4 (F{') NH,4Cl (?{) KNO;

Which of the following salts is acidic in nature?

(a) NaCl (b) Na,SO, (c) NH4Cl1 (d) KNO;

(2) TFE T T st et | w419 s T8t 82

(37) IR (F) AR (7) FA4T (F) BRI

The position of which element is not fixed in the periodic table?
(a) Sodium (b) Helium (c) Chlorine (d) Hydrogen

(3) FAT &

(31) 8T (F) 97 (F) aTqe (3) T

Bronze is :

(a) Alloy (b) Gangue (c) Slag (d) Flux

(4) Forelt aRfi=r 3 STrat T ST | 5567 9TE S O, 453 HATRAT, 23 UF, 7769 S=q 9707 0| 39
AT T T TTATHEF ICATEA T

(37) SR & FHEq S{iat T gregferd sHaar

(F) T F THET TAEIAAT T TEATrT a9
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The number of organisms in a garden was estimated as 5567 grasses, 453 shurbs, 23 trees and
7769 animals.

The primary productivity of this area will be nearly equal to:

(a) biomass of all organisms of the garden

(b) biomass of all the plants of the garden

(c) biomass of all the animals of the garden

(d) biomass of only all the grasses

(5) THTY A<IT T T HITAFRTSA H HITAFRT AT 21T &
() ST () FAT (7) FELAT (3) T At

Cell division that takes place in somatic cells of our body is:
(a) Meiosis (b) Amitosis (¢) Mitosis (d) All of the above

(@ue-a) I T At g ST (1x5=5)




(Section-B) Fill in the blanks :

(1) FAaTa H TR d T AT e 2l
Speed of light in vacuum is .

(2) g & T gl ST TN e 2
The ultimate energy source in the world is .
(3) T ATAF =T FoTHE TA .o, 2l
The most electro-negative element is .
(4) Ta=a orf<h &7 (S.1.) 9731 2|

The S.I. unit of electric power is .

(5) TR MR oo TETS | 4T graT 2l
Packing gasket is made of material.
(Tue-7) 3T T MiET: (1x5=5)

() - (=)

(1) T%H g - FHATEE 7 faaet & 9&

(2) THHS THRIATST - TTATET

(3) FHFRT T=ET - Afaefifaa &=

(4) w7 - -273°C

(5) &\ T &THAT T AT - FATod Teed
(Section-C) Match the following :

(A)—(B)

(i) Absolute zero — Wings of bat and butterfly

(11) Animal ecology — Dioptre

(ii1) Analogous structure — Supercooled liquid
(iv) Glass - -273°C

(v) Unit of power of lens — Charles Elton

fA3er: w1 A1 2 § 6 TF AALSaIT T gl TAF TF T2 2 3F Aaied gl (AT Il
ATFRAT eTex-H AT 30 95T §)

Instruction : Question Nos. 2 to 6 are very short answer type questions. Each question carries 2
marks. (Maximum word limit of each answer is 30 words)

.2 ot a7 (FHE) § a9 Sofl (o8 T aiatad gidt 82 (2)

How does the ionization energy change in a group?

.3 AT HIET o &7 STANT oI (2)

Write two uses of baking soda.

.4 ITATIE F9T g2 THEF qeeh! & A7 [0 (2)

What is Biogas? Write the names of its components.

.5 AT eeTaeht a5 fohe Fgd 52 THF qeahl & ATH oIl (2)
What is Eco-system? Write the names of its components.

.6 FT I5=A FAT 22 (2)

What is vegetative reproduction?

e w7 FH1F 7 F 10 TF ATAALSTALT T | TAF T U2 3 30 afed gl (TAF I ahl
ATerhae Aea-HHT 50 9752 )

Instruction : Question Nos. 7 to 10 are very short answer type questions. Each question carries 3
marks. (Maximum word limit of each answer is 50 words)




.7 ATt ferEves o sgd 82 7t o, U™ 3 ATfersh 9% wewmHt == i awardy it o, 1
I ATAT ATHTRAT 7 TfieReor forfam (3)

What is nuclear fission? Write the chemical reaction that takes place if slow moving neutron is
bombarded on the nucleus of 92U236.

.8 ST ZH TU | FE Al G Al 9@T ad &, T AT 1aa A7 aeq & L I FT TAET 9=2a71 82 (3)
When we increase the distance between the mirror and the object, then what would be the effect
on the distance between the image and the object?

7.9 fohrgl i IUsheont o A1 forfa e fBrea e &t ST T Smar 82 (1+1+1=3)
Write the name of any three appliances in which electric motor is used.
.10 T =TI, TTH s 999 UF AqHAT I TATOT Hiorgl (143=3)

Define artificial selection, natural selection and adaptation.

fder: w7 7 11 | 14 T TLSTUT TF 81 TAF T I 4 3 sfated gl (TAH IqL 0
AT 9Teq-HIHT 75 9155 )

Instruction : Question Nos. 11 to 14 are short answer type questions. Each question carries 4
marks. (Maximum word limit of each answer is 75 words)

T.11 AT T TATFT T8 § =7 3a¥ forfaw) (1x4=4)

Write four differences between aerobic and anaerobic respiration.
qI4q1/ OR

AT T AT o9 | 9T qe ferfem)

Write four differences between sexual and asexual reproduction.

.12 TATAT T FTATAT T FAT 82 IITZLIT SohY T AT (1x4=4)
What are dominant and recessive characters? Explain with example.
qI4q1/ OR

ST T THTT AL FAT 52 IITELI S TTF AT

What are homologous and analogous characters? Explain with example.

.13 F® TRTAT % 919 T 39 pH A Gt § f3w 70 g sitwet & fergwor w2 Aaferfea wert
& I Q9T

HIOft

qaTd % ATH pH ®IH

T % "I 1 faea 8.2

fgxrwm 22

q=T 7.0

e gregiadrse aaaT 13.0

TT: (1x4=4)

(37) ToheT IaT T Wi AT 52

() o JaTef T i o 82

(%) T T T T I 872

(F) FIF-AT 927 TaIA AT 82

Name of some substances and their pH value Table. Analyse the data and answer the following
questions:

Table

Name of Substance pH value




Solution of baking soda 8.2

Lemon Juice 2.2

Water 7.0

Sodium hydroxide solution 13.0

Question :

(a) Which of the substance is basic in nature?

(b) Which of the substance is acidic in nature?

(c) Which of the substance is neutral in nature?

(d) Which of the substance is strong base?

FI41/ OR

T Teat T TIHT] AT B 5, 7 T 10 g1 Forfew -

(37) FIH-HAT T a7 18 FT ;

(F) FIA-AT qcF a9 15 FTE;

() FIF-HT T & 13 77 2

(@) T Tfy T o Srad o 8

The atomic numbers of three elements are 5, 7 and 10 respectively.
Write-

(a) which of these belongs to group 18;

(b) which of these belongs to group 15;

(c) which of these belongs to group 13;

(d) all elements belong to which period.

.14 oY & TAFT & SRR ICATEA HT A0 HHTorad (ovgsl § hioru: (242=4)
Y EIGIESREE]

() TTFRAT T TTETETAE THH

Describe the industrial production of ethanol from molasses under the following heads :
(a) Labelled diagram

(b) Chemical equation of the process

SRl

PVC #¥ Hafad 5e=T forashe THF F1% &l STTNT o)

Write the condensed structure of PVC and write any two uses of it.

3o 7 FHIE 15 UF 16 <rHSaT W 81 Tds W 9¥ 5 3F afafeq gl (Iei® Ia< df
ATIHAT Tex-HHT 150 9153 )

Instruction : Question Nos. 15 and 16 are long answer type questions. Each question carries 5
marks. (Maximum word limit of each answer is 150 words)

.15 AT STaqer U Al aohdT FSAT (R) TF RIwE g0 (f) § a9 #1009 Sitoral (5)
Establish the relation between the radius of curvature (R) and focal length (f) of the spherical
concave mirror).

EDEI

c o > (ol o o O\ oo
STRTRT hT G Teh Y hgd %? qTaa & (FIE oy arifRa e EQIEW™
What is reflection of light? Write law of reflection and draw labeled diagram.

T.16 =T ST (STAAHAT) FT qui 75 ofi 0l & ofaiq hiford: (14242=5)
(@) FETa

(F) ATHTRT Y@=




(@) Frafafe

Explain electric generator (Dynamo) under the following headings:

(a) Principle

(b) Labelled diagram

(c) Working method

qI4aT/ OR

TR TUe FFas & ST g BN AR IAC Al A @R Il 9 T@Tu Giad qael
SPRRT 57 A Forer e ¥ siae FIR

CIRILIERAEE]

(&) s fafer

GIEUIEENER

Draw magnetic lines of force when North pole of bar magnet is aligned with the geographic
North and describe under the following heads:

(a) Labelled diagram

(b) Application method

(c) Two precautions

39T T FHTF 17 UF 18 SIS0 T g1 T h® T 9T 6 3 Arafed gl Tod® TF § &T ST-77
g1 (T 3T AT SATAHaA Meq-HIHT 75 953 B)

Instruction : Question Nos. 17 and 18 are long answer type questions. Each question carries 6
marks. Each question has two sub-questions. (Maximum word limit of each answer is 75 words)
.17 (37) A % 9T G FT T=, AT =07 a1sul (3+3=6)

(F) AT ® & HC T F19 forferm) (s 6 9)

(a) Draw a well-labelled diagram of human digestive system.

(b) Write the function of HCI secreted in the stomach. (any three)

qI4q1/ OR

(37) TTT E&T o AFad Fle (LS) T Fq=g ATHIhd (= aqT120]

() TRTer-geor it afeamT oy s w1 qamaf=es aefwr e

(a) Draw a well-labelled diagram of longitudinal section (LS) of human heart.

(b) Define photosynthesis and write the chemical equation of this process.

.18 (37) 9T Ta TLTE | Wi UM % LT 92 i fax forfem)

@) FMeferiead AT gregise & o I[OT &1 2907d 52

(1) IS 9 & AT (a1 a1 § S=aT 5

(2) EESET I | 9¢ A & Hg & GHIT AT el o ST 9% qiT° it SAamsT At gl
(3+1V2+1v2=6)

(a) Write three differences between metal and non-metal on the basis of physical properties.

(b) The activities described below are due to which property of hydrogen?

(1) A hydrogen filled balloon flies in air.

(i1) A ‘pop’ sound is produced when a lighted matchstick is taken near the mouth of the jar filled
with hydrogen gas.

FI4q1/ OR

() T UF 9% | IS digd siax forfau (& o)

(F) FHEATTOT FohH gl &2 HeATIOT | = o Tohval oI SHTAT [ feriem)

(a) Write differences between mineral and ore with example. (any three)




(b) What is corrosion? Write any three methods to prevent corrosion.



